11-011 TR PR FR S (2010.3)

0 ) l .
1 |:> 1 Unit [m]

-60 -40 20 0 40 60 80 100

2009 3 -1

z[m]

00 T ) 00 T )
Uh S Lh & L R

8 20m 40 60 80 100120 14.0 16.0 18.0 20.0 22.0 24.0 26.0
60m 70° y[m]
0.75m (a) A-A= (x=-40m)

z[m]

120m

e o S O
00 h ) = 00 T b
Lh S Lh o LA S Lh

2.0 4.0 6.0 8.0 10.0 12.0

0 1m 20cm

miniADP )

00 T o = 00 Th b
LA Lhe LA Lh

20 40 60 80 100 120 140 160 180 200

-1

¥[m]
40 50m

(© C-C = (x=30m)

-30-20 -10 0 10 20 30 40 50 [cm/s]
B-B~

c-c~ B-B~
-2 miniADP

y 0
A-A~

-137-



11-011 TARZFES ISR RS (2010. 3)

5 S

-1 3cm—#3cm

Case % 3cm/

hlcm]| Q[lit/s]| u[cm/s] F
1 4 85 217 0.4429 15cm
2 8 17.0 328 0.3706

0 asel -3
13m 59.3cm S —

F—— -, |

30cm 40— v

1/500 -3 I
I = e e e o SN
1  3cm B A AL S N TR S S
o o [T me il 3 8
15cm 6cm 3cm 2 0O 20 40 60 80 100 120 140
x[ecm]

> — — _—r
g ]

ylem]
|

\

“x

|

%

45cm 90cm 1
Case2

1 1.5cm L

44.2
-1

I T
200 —

Casel z=1.5cm Case2 T A AR
VkVA :

s — > —»r
—»

e e e I S

e S —
> 5 =y,
T — = =,

ylem]

wday

= =" ‘ : ‘ —
z=1.5,4.0,6.5cm 135cm 2 | b 30 4 & B0 100 Do 10
X[cm] I
0 50 100[cm/s]
-4 z=1.5cm Casel
-4 (z=1.5cm)
GGCasel — U
Case?
2
-5  x=0cm Tho 50.Case2 —»u
T Tho
T 2z=1.5cm Uy
Vb
_pCf 2 2
Ty = UpyUp +Vy
2
0 05 0 05 1 15 2 25 3 35 4
| I I I | | I | I — |
-6 y=18 -5
Casel,?2 4
|
X=45cm | 3 ; —=— Case2
2
Casel 1t
03645 60 75 90 105 120 135
x[cm
-6 (y=18)

38 pp727-732 1994

-138-



